

निम्न अवकल समीकरणों को हल कीजिए—

1. $\frac{dy}{dx} + \frac{x-2y}{2x-y} = 0$

3. $(x^2 - y^2) dx + 2xy dy = 0$

5. $x dy - y dx = \sqrt{x^2 + y^2} dx$

7. $\frac{dy}{dx} = \frac{y}{x} + \tan \frac{y}{x}$

9. $\frac{dy}{dx} = \frac{y-x+1}{y+x+5}$

2. $(x^2 + y^2) dx - 2xy dy = 0$

4. $y^2 + x^2 \frac{dy}{dx} = xy \frac{dy}{dx}$

6. $\frac{dy}{dx} = \frac{y}{x} + \sin \frac{y}{x}$

8. $\frac{dy}{dx} = \frac{2x+9y-20}{6x+2y-10}$

13. $x \cos\left(\frac{y}{x}\right) \frac{dy}{dx} = y \cos\left(\frac{y}{x}\right) + x$

उत्तरमाला

1. $(x+y)^3 = c(x-y)$

3. $x^2 + y^2 = cx$

5. $y + \sqrt{x^2 + y^2} = cx^2$

7. $\sin \frac{y}{x} = cx$

9. $\log \{(y+3)^2 + (x+2)^2\} + 2 \tan^{-1} \frac{y+3}{x+2} = c$

13. $\sin\left(\frac{y}{x}\right) = \log cx$

2. $x = c(x^2 - y^2)$

4. $ky = e^{y/x}$

6. $\tan \frac{y}{2x} = cx$

8. $(2x-y)^2 = c(x+2y-5)$

$$\textcircled{1} \quad \frac{dy}{dx} + \frac{x-2y}{2x-y} = 0$$

put $y = vx$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$v + x \frac{dv}{dx} + \frac{x-2vx}{2x-vx} = 0$$

$$x \frac{dv}{dx} + \frac{1-2v}{2-v} + v = 0$$

$$x \frac{dv}{dx} + \frac{1-2v+2v-v^2}{2-v} = 0$$

$$x \frac{dv}{dx} + \frac{1-v^2}{2-v} = 0$$

$$\frac{(2-v) dv}{1-v^2} + \frac{dx}{x} = 0$$

$$\frac{2}{1-v^2} dv - \frac{v dv}{1-v^2} + \frac{dx}{x} = 0$$

$$\int \frac{2}{1-v^2} dv + \int \frac{(-2v) dv}{2(1-v^2)} + \int \frac{dx}{x} = 0$$

$$\frac{2}{2 \times 1} \log \left(\frac{1+v}{1-v} \right) + \frac{1}{2} \log (1-v^2) + \log x = \log c'$$

$$\log \left(\frac{1+y/x}{1-y/x} \right) + \frac{1}{2} \log \left(1 - \frac{y^2}{x^2} \right) + \log x = \log c'$$

$$\log \left(\frac{x+y}{x-y} \right) + \frac{1}{2} \log \left(\frac{x^2-y^2}{x^2} \right) + \log x = \log c'$$

$$\log \left\{ \left(\frac{x+y}{x-y} \right) \cdot \frac{\sqrt{x^2-y^2}}{x} \cdot x \right\} = \log c'$$

$$\log \left\{ \frac{(x+y) \sqrt{x^2-y^2}}{(x-y) \sqrt{x^2-y^2}} \right\} = \log c'$$

$$r \frac{(x+y)^{3/2}}{(x-y)^{1/2}} = C'$$

$$r \frac{(x+y)^3}{(x-y)} = (C')^2$$

$$r \frac{(x+y)^3}{(x-y)} = C \quad \text{Ans}$$

$$\textcircled{2} \quad (x^2 + y^2) dx - 2xy dy = 0$$

$$\text{or } (x^2 + y^2) - 2xy \frac{dy}{dx} = 0$$

$$y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$\text{or } (x^2 + v^2 x^2) - 2x \cdot vx \left(v + x \frac{dv}{dx} \right) = 0$$

$$\text{or } (1 + v^2) - 2v \left(v + x \frac{dv}{dx} \right) = 0$$

$$\text{or } (1 + v^2) - 2v^2 - 2xv \frac{dv}{dx} = 0$$

$$\text{or } (1 - v^2) = 2xv \frac{dv}{dx} = 0$$

$$\text{or } \frac{dx}{x} - \frac{2v dv}{1 - v^2} = 0$$

$$\text{or } \int \frac{dx}{x} + \int \frac{(-2v) dv}{(1 - v^2)} = \log c$$

$$\text{or } \log x + \log(1 - v^2) = \log c$$

$$\text{or } \log x (1 - v^2) = \log c$$

$$\text{or } \log x \left(1 - \frac{y^2}{x^2} \right) = \log c$$

$$\text{or } \log \frac{(x^2 - y^2)}{x} = \log c$$

$$\text{or } \frac{x^2 - y^2}{x} = c \quad \text{or } \sqrt{x^2 - y^2} = cx$$

$$\textcircled{3} (x^2 - y^2) dx + 2xy dy = 0$$

$$\Rightarrow (x^2 - y^2) + 2xy \frac{dy}{dx} = 0$$

$$(x^2 - vx^2) + 2x \cdot vx \left(v + x \frac{dv}{dx} \right) = 0$$

$$\boxed{\begin{aligned} y &= vx \\ \frac{dy}{dx} &= v + x \frac{dv}{dx} \end{aligned}}$$

$$\Rightarrow (1 - v^2) + 2v \left(v + x \frac{dv}{dx} \right) = 0$$

$$\Rightarrow 1 - v^2 + 2v^2 + 2vx \frac{dv}{dx} = 0$$

$$\Rightarrow (1 + v^2) + 2vx \frac{dv}{dx} = 0$$

$$\Rightarrow \frac{dx}{x} + \frac{2v dv}{1+v^2} = 0$$

$$\Rightarrow \int \frac{dx}{x} + \int \frac{2v dv}{1+v^2} = \log c$$

$$\Rightarrow \log x + \log(1+v^2) = \log c$$

$$\Rightarrow \log x(1+v^2) = \log c$$

$$\Rightarrow \log x \left(1 + \frac{y^2}{x^2} \right) = \log c$$

$$\Rightarrow \log x \left(\frac{x^2 + y^2}{x^2} \right) = \log c$$

$$\Rightarrow \frac{(x^2 + y^2)}{x} = c$$

$$\underline{x^2 + y^2 = cx} \quad \underline{\text{Ans}}$$

$$\textcircled{1} \quad y^2 + x^2 \frac{dy}{dx} = xy \frac{dy}{dx}$$

$$\textcircled{2} \quad y^2 = (xy - x^2) \frac{dy}{dx}$$

$$\textcircled{3} \quad v^2 x^2 = (x^2 v - x^2) \left(v + x \frac{dv}{dx} \right)$$

$$\textcircled{4} \quad v^2 = (v-1) \left(v + x \frac{dv}{dx} \right)$$

$$\frac{v^2}{v-1} = v + x \frac{dv}{dx}$$

$$\textcircled{5} \quad \frac{v^2}{v-1} - v = x \frac{dv}{dx}$$

$$\textcircled{6} \quad \frac{v^2 - v^2 + v}{v-1} = x \frac{dv}{dx}$$

$$\textcircled{7} \quad \frac{dx}{x} = \frac{(v-1)dv}{v}$$

$$\textcircled{8} \quad \frac{dx}{x} = \left(1 - \frac{1}{v} \right) dv$$

$$\textcircled{9} \quad \int \frac{dx}{x} + \log c = \int \left(1 - \frac{1}{v} \right) dv$$

$$\textcircled{10} \quad \log x + \log c = v - \log v$$

$$\textcircled{11} \quad \log cx + \log v = v$$

$$\textcircled{12} \quad \log cx + \log \left(\frac{y}{x} \right) = y/x$$

$$\textcircled{13} \quad \log cx \cdot \frac{y}{x} = y/x$$

$$\boxed{cy = e^{y/x}} \quad \underline{\text{Ans}}$$

$$y = vx$$
$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$(5) \quad x \, dy - y \, dx = \sqrt{x^2 + y^2} \, dx$$

$$x \frac{dy}{dx} - y = \sqrt{x^2 + y^2}$$

$$\text{or } x \left(v + x \frac{dv}{dx} \right) - vx = \sqrt{x^2 + v^2 x^2}$$

$$\text{or } v + x \frac{dv}{dx} - v = \sqrt{1 + v^2}$$

$$\text{or } \int \frac{1}{\sqrt{1+v^2}} \, dv = \int \frac{dx}{x} +$$

$$\int \frac{dv}{\sqrt{1+v^2}} = \int \frac{dx}{x} + \log c$$

$$\text{or } \log(v + \sqrt{1+v^2}) = \log x + \log c$$

$$\text{or } \log\left(\frac{y}{x} + \sqrt{\frac{x^2 + y^2}{x^2}}\right) = \log x + \log c$$

$$\text{or } \log\left(\frac{y + \sqrt{x^2 + y^2}}{x}\right) = \log cx$$

$$\text{or } \frac{y + \sqrt{y^2 + x^2}}{x} = cx$$

$$\underline{y + \sqrt{y^2 + x^2} = cx^2} \quad \underline{\text{Ans}}$$

$$(6) \quad \frac{dy}{dx} = \frac{y}{x} + \sin\left(\frac{y}{x}\right)$$

$$v + x \frac{dv}{dx} = \frac{vx}{x} + \sin v$$

$$\text{or } v + x \frac{dv}{dx} = v + \sin v$$

$$\text{or } \frac{dv}{\sin v} = \frac{dx}{x}$$

$$y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$\Rightarrow \frac{du}{\sin u} = \frac{dx}{x}$$

$$\Rightarrow \int \frac{du}{\sin u} = \int \frac{dx}{x} + \log c$$

$$\Rightarrow \int \csc u \, du = \int \frac{dx}{x} + \log c$$

$$\Rightarrow \log \tan\left(\frac{u}{2}\right) = \log x + \log c$$

$$\Rightarrow \log \tan\left(\frac{y}{2x}\right) = \log cx$$

$$\underline{\tan\left(\frac{y}{2x}\right) = cx}$$

$$\textcircled{7} \frac{dy}{dx} = \frac{y}{x} + \tan\left(\frac{y}{x}\right)$$

$y = vx$

$$\Rightarrow y \frac{du}{dx} = \frac{y}{x} + \tan u$$

$$\frac{dy}{dx} = v + x \frac{du}{dx}$$

$$\Rightarrow \frac{du}{\tan u} = \frac{dx}{x}$$

$$\Rightarrow \int \csc u \, du = \int \frac{dx}{x} + \log c$$

$$\Rightarrow \log \sin u = \log x + \log c$$

$$\Rightarrow \log \sin u = \log cx$$

$$\Rightarrow \sin u = cx$$

$$\underline{\sin\left(\frac{y}{x}\right) = cx} \quad \text{Ans}$$

9

$$\frac{dy}{dx} = \frac{y-x+1}{y+x+5}$$

put

$$x = x+h$$

$$y = y+k$$

$$\frac{dy}{dx} = \frac{y+k-x-h+1}{y+k+x+h+5} = \frac{y-x+k-h+1}{y+x+k+h+5}$$

$$\frac{dy}{dx} = \frac{y-x}{y+x}$$

$$y+x \frac{dy}{dx} = \frac{y^2-x^2}{y+x}$$

put $y = vx$
 $\frac{dy}{dx} = v+x \frac{dv}{dx}$

$$y+x \frac{dy}{dx} = \frac{y^2-x^2}{y+x}$$

$$x \frac{dv}{dx} = \frac{v^2-1}{v+1} - v$$

$$x \frac{dv}{dx} = \frac{v^2-1-v^2-v}{v+1} = \frac{-(1+v^2)}{1+v}$$

$$v \frac{(1+v) dv}{1+v^2} + \frac{dx}{x} = 0$$

$$\int \frac{2}{1+v^2} dv + \int \frac{2v}{(1+v^2)} dv + \int \frac{dx}{x} = \log c$$

~~$2 \tan^{-1} v + \frac{1}{2} \log(1+v^2) + \log x$~~

~~$2 \tan^{-1} (y/x) + \frac{1}{2} \log \left(\frac{x^2+y^2}{x^2} \right) + \log x$~~

$$2 \tan^{-1} v + \log(1+v^2) + 2 \log x = \log c$$

$$2 \tan^{-1} (y/x) + \log \left(\frac{x^2+y^2}{x^2} \right) + \log x^2 = \log c$$

$$2 \tan^{-1} (y/x) + \log(x^2+y^2) = \log c$$

$$2 \tan^{-1} \left(\frac{y+3}{x+2} \right) + \log(x^2+4+4x+y^2+9+6y) = \log c$$

$$2 \tan^{-1} \left(\frac{y+3}{x+2} \right) + \log(x^2+y^2+4x+6y+13) = C$$

$$2 \tan^{-1} \left(\frac{y+3}{x+2} \right) + \log \left\{ (x+2)^2 + (y+3)^2 \right\} = C$$

Ans

$$\begin{aligned} k-h+1 &= 0 \\ k+h+5 &= 0 \\ \hline -2h &= 4 \\ h &= -2 \\ k &= -3 \end{aligned}$$

$$\left. \begin{aligned} x &= x-2 \\ y &= y-3 \end{aligned} \right\}$$

$$(13) \quad x \cos\left(\frac{y}{x}\right) \frac{dy}{dx} = y \cos\left(\frac{y}{x}\right) + x$$

$$x \cos u \left(u + x \frac{du}{dx}\right) = ux \cos u + x$$

$$\checkmark \cos u \left(u + x \frac{du}{dx}\right) = u \cos u + 1$$

$$\checkmark x \cos u \frac{du}{dx} = 1$$

$$\checkmark \int \cos u \, du = \int \frac{dx}{x} + \log c$$

$$\sin u = \log x + \log c$$

$$\boxed{\sin\left(\frac{y}{x}\right) = \log cx}$$

Ans

$$\left. \begin{aligned} y &= ux \\ \frac{dy}{dx} &= u + x \frac{du}{dx} \end{aligned} \right\}$$